
M-5025-M8 
Mustang Manual Transmission Cooler Scoop 
INSTALLATION INSTRUCTIONS 

 

 

 

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF  
FORD RACING PERFORMANCE PARTS. 

  

Techline 1-800-367-3788 Page 1 of 5 IS-1850-0450 

Factory Ford shop manuals are available from Helm Publications, 1-800-782-4356 

 
 
 

Please visit www.fordracingparts.com for the most current instruction information 
 

! ! ! PLEASE READ ALL OF THE FOLLOWING INSTRUCTIONS CAREFULLY PRIOR TO INSTALLATION. 
AT ANY TIME YOU DO NOT UNDERSTAND THE INSTRUCTIONS, PLEASE CALL THE FORD RACING 

TECHLINE AT 1-800-367-3788 ! ! ! 
 

 

 
 
SCOOP KIT: 
 

Quantity Part Name 

1 Transmission Scoop 

2 M10 x 20MM Bolt  

2 M10 x 60MM Bolt 

4 M10 Lock Nut 

2 Sleeve 

 
 
  
 
 

http://www.fordracingparts.com/


M-5025-M8 
Mustang Manual Transmission Cooler Scoop 
INSTALLATION INSTRUCTIONS 

 

 

 

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF  
FORD RACING PERFORMANCE PARTS. 

  

Techline 1-800-367-3788 Page 2 of 5 IS-1850-0450 

Factory Ford shop manuals are available from Helm Publications, 1-800-782-4356 

 
 
 
INSTALLATION INSTRUCTIONS: 
 
 
STEP 1: Raise and support vehicle to gain access to underside.  
  

  
 
STEP 2: Locate the (4) existing holes in the front engine cradle.  
 
 

 
 
 
 
 
 



M-5025-M8 
Mustang Manual Transmission Cooler Scoop 
INSTALLATION INSTRUCTIONS 

 

 

 

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF  
FORD RACING PERFORMANCE PARTS. 

  

Techline 1-800-367-3788 Page 3 of 5 IS-1850-0450 

Factory Ford shop manuals are available from Helm Publications, 1-800-782-4356 

 
 
 
 
STEP 3: Slide the transmission scoop over the rearward portion of the engine cradle. Slide towards the 

front of the vehicle until the existing hole aligns with the transmission scoop provision. 
  

   
 
 
STEP 4: Position the (2) provided sleeves over the (2) provided M10 x 60mm bolts. 
  

   
 
 
 
STEP 5: Slide the bolt with sleeve through the transmission scoop and engine cradle. Loosely install the 

provided M10 lock nuts. 
  

   
 
 
 



M-5025-M8 
Mustang Manual Transmission Cooler Scoop 
INSTALLATION INSTRUCTIONS 

 

 

 

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF  
FORD RACING PERFORMANCE PARTS. 

  

Techline 1-800-367-3788 Page 4 of 5 IS-1850-0450 

Factory Ford shop manuals are available from Helm Publications, 1-800-782-4356 

 
 
 
 
STEP 6: Feed the provided M10 x 20mm bolt into the forward portion of the engine cradle and place into 

the locating position.  Repeat on the opposite side and loosely install the provided lock nuts. 
  

   
 
 
 

 
 

 
 
STEP 7: Tighten the (2) rearward M10 x 60mm bolts and torque to 31 ft lbs. 
  

   
 
 
 
 
 



M-5025-M8 
Mustang Manual Transmission Cooler Scoop 
INSTALLATION INSTRUCTIONS 

 

 

 

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF  
FORD RACING PERFORMANCE PARTS. 

  

Techline 1-800-367-3788 Page 5 of 5 IS-1850-0450 

Factory Ford shop manuals are available from Helm Publications, 1-800-782-4356 

 
 
 
 
STEP 8: Tighten the (2) forward M10 x 20mm bolts and torque to 31 ft lbs. 
  

   
 
 

          


